INERISHIR (024F4R18IR) BRAOEESFE

2024410R308

RERARMA S

#E - BERHESFHREEMOSMSE (RRTY7)

20245128 S OBHESREBRAMIDOLNTHHMSELET,

I Esmsam = (1) REMREZEE + (2) hiSMikEEE |
PRHBZEREEE Bid)
X% B - o BREBAER2AN S AXR
*ﬁﬁ‘“ﬂb Z=A1 Eo)iﬁﬁ" QE'GGDL\?:*LfJ\o)i%’S
R ) M /kih RHERE REEE
SERBOEE M /kWh REERE REEE

X LR OEMIEX20245F12A28~2025F1 A1BETOMICHES M- CERAPIERAENET,

(1) BEHEIEERRIR

.
N~ A~ A~ A~ A~ A A A A A A A A A A v A Ao A A A A

N~ A~ A~ A A A A A A A A A A A A A A Ao A A A A

L0) RplssRzE = CROMEE% - X) x EEHE + 1,000

2024467 B ~202449 A £ D B B EE

1kl 1= Y O T 1 Bk A - 82, 043M o 0.0048
1t & 1= Y O T LNGIHiH B . 93, 635M B 0. 3759
1t 1= Y QT A RAfE C: 23, 209M y . 0.6725
LEE ZHMEHERIC & S FHMEMER (FMBREEIKIHZY) (00MKRFEMBEREA)
|FEsEfiE = Axa + BXB + CXy = 51,2001 |
I BT 1 PR ATIAR [ X . 57, 500M]
X5 B FLAEBf (1) BREEEAEIE (Fid)
R S //kWh 0. 169 -1.06
EERBNSE M/kWh 0.174 -1.10
(2) MiGMEAREIE
[ TBMiERAEE = (Fompiie - V) X EEhBEHm |
EHOHIBMEE (kWhdHhi=Y) &FBEHK
mitArEAIROEs | REANBAZANL AR
20244E12 818 ~20244128 | 2024411 A18 ~2024411 5
KETHDEME RETHOERE
£ B B 51 :0.8288 KEEE REEE
EYGER i 52 :0.1712 KEEE REEE

LTSI & 5 FHHSME (kWhé=Y)

[EumGift = 2HEM x o1 (2H) + BREEM x o2 (RED

EEHIGHE Y : 11.22H
P = i 4%%']%&{%‘%8 . 0 309 F':J
HAETIGEE SR 0317 [
(2) MGMEAEIE (FiA)
X5 By o o ®EtAAEA2BENSAX
@§+E75\ﬂﬁ1 Eo)iﬁe i'CO)L‘f){L?‘J\O)i%‘S
Eile L RRnEa A /kih RFEE REE
BEERNEE A /kih RFEE REEE




INFEHREHRR (2023F4A1AKR) BRADEBESE

20244108308

REARKASH

Bre - EERMEFHEEMOSMoE (RRITY7)

20245128 S OBRMEERERM DL THSMOELET,

[RUBZREEH = (1) MEERAZE 4+ (2) WHHEARE
=%2) BT MU EZRAEEM (Bid)
BASEHREDEE M /kWh —2.53
EEHREDEE M /kWh -2. 62

X LD EHIZ20245F12A28 ~2025F 1 1B ECORMICEHESN - CHANISERSNET,

(1) PRMfiERRE

et et i it bt i b b bt b s ot i s s e B TR

L) BEREAEE = CEMREE®E - X) x HEAEEE + 1,000

2024478 ~202449 B FH D & 5 #ft 51 itk

1kl 3 7= Y O FEHE i A 82,043 o . 0. 0033
1tdp 1= Y O FHILNGIEAE B . 93,635 B . 0. 4001
1t - Y O EHFR R C. 23,209 y 0. 6241
LEEE SHMEHEEIC & B FEHBREMERE (FaREEIK H-Y) (100K FEIEREA)
| EH R E@EE = Axa + BxB + Cxy = 52, 200
I A T R I X - 64,900 |
X5 B HEBH (1) BEmBRAEE (Fd)
Bl ERBDES /kih 0. 1450 —1. 8415
EERBOES /kih 0. 1500 —1. 9050
(2) MiGmKFHzEE
[ nomEREE = (FRnbmE - v) x EEmbEm
2024578 ~2024F9 A FHHOHIGME (IkWhHf=U) EFBEFREK
£ B B {f 15. 331 51 0. 6566
JER ) B4 {f 15. 331 52 0.3434

LRSI & S FHHEHEE (kihdH=Y)

[FiamBiiE = 208M x 01 (£H) + BRREEM x o2 (BE) = 15.33M
I B 1B (i A [ Y. 17. 448
0 EX EETISEH (2) T MBREE (Fok)
R A M /kWh 0.328 0. 69208
EEEROBS 5 /kith 0.337 0. 71107

g+%:j5;£~~~~~~~~~~~~~~~~~~~~~~~~



